February 13 2013 1st.gwb - 1/3 - Wed Feb 13 2013 08:11:27

x4 ] 3°-1=0
Qf(’a )xij'f; ’(A’Ei

3>< ~ -
X_‘_‘_*‘/—\-—
Jf\(j She( 33~ D Mgéx\ e S
5+ y x-!:ﬁ 5 Y) ?"w » Lk:ﬂ 4
| - _ ' 1M gx S ’
’g(ﬂ>'(;:<])9%&:i;f— ?L’*E+” Ea J(%J
+ Goy” R [B”*/% W _
I 'i: ¢ I } I;
§ (xj-, —%(3% D<+/Jr%><) (2)(337) (1) ) ! @ V;Q;
)

s 22 P = G

(32’ Yo A BV




February 13 2013 1st.gwb - 2/3 - Wed Feb 13 2013 08:31:12

@ H"); XL' “Jbx® Y — 3Ty /Y

PO = 127 —Gbx +3 4

Phay = 4e>-ysa? + 7 =316 - cof #5
X=.555, 1,1),9.97

JQ(X?_?Y ") mﬁhﬁ:\q ;n Rrcaply
Jo(x=T)( X =1) %=1, .
ads
! — 0+ = . f =59
Wc(ﬂé S %f IL__F\> ?f;ﬁ_ = X 12,9
5 A 1 : 7
M PAX ™Min f{(.ﬁ?*/ﬂ?;;?
' 0 — 0+ 1) =17
T (ﬂ . N — {5957 —alge
T b, SN =Y
o () = - )72




February 13 2013 1st.gwb - 3/3 - Wed Feb 13 2013 08:48:28

ORI = [EPA00)3(5)

-*Y‘H g\o !
qx" S Y4 —gx? i
‘;j/)( Q—X‘I" ) Z;X(t;x—‘> #qxz_}#:o
(X-x41)" X7 |
x =17
Pl - ey ot T
(X'}")Q-l"()“’ ) X:]l-—} p(k)tfi\;q _r; \5_>
_F )= (-?%)(xlx-i-h%@(*‘fx @(x/ﬁ’)@‘@ i St
(x7-y +)¥°
—> F =+ b ~9%‘5-Jb>< s
(x? RVENE

0 P9 e _ 5(x3-3x+1)
(@) (X2 +1)?




